#### CHABOT-LAS POSITAS COMMUNITY COLLEGE DISTRICT

January 20, 2009

Agenda Item: 3.3

Subject: Faculty Personnel

<u>Recommended Action</u>: That the Board of Trustees approve the following Faculty Personnel.

## I. ASSIGNED TO CHABOT COLLEGE

# A. Employment

# New Temporary Part-Time for 2008-09 Academic Year

(Per contract, faculty are placed on the faculty salary schedule at Step 1, unless noted otherwise.)

Alfonso, Elizabeth (nmi) Spanish
Calomino, Adrienne M. Mathematics
Chang, Wenchi L. Chinese

Lewis, Margaret A. Learning Skills

Storch, Arthur L. Music

## New Temporary Part-Time Counselors for 2008-09 Academic Year

Keeler, Bruce (nmi)

## Returning Temporary Part-Time for 2008-09 Academic Year

Bridge, Lester B. Electrical Apprenticeship Buhowsky, Joseph A. Electrical Apprenticeship

French, Christina D. English

Gilfillan, David A. Electrical Apprenticeship

Gleason, Ken (nmi) History

Hernandez, Arthur J. Electrical Apprenticeship

Landers, Jim K. Telecommunications Apprenticeship

McQuade, Joan M. English

Nelson, David B. Electrical Apprenticeship Upshaw, John R. Roofers Apprenticeship Wright, Robert A. Electrical Apprenticeship

### B. Separation/Termination

Page 2

### **Emeritus Retirement**

The Board of Trustees hereby bestows the title of "Emeritus" upon the following faculty member in recognition of her significant service to the Chabot-Las Positas Community College District and grants an appropriate certificate.

FACULTY	DATE	RETIREMENT
STAFF	EMPLOYED	EFFECTIVE
Paz, Jeannette G. Instructor, Health (2FHS12)	9/11/90	05/29/09

# C. Adjustment of Placement of the Full-time Salary Schedule

Kopay, Carey L., Instructor, Biology (2LSM08), from Column/Step III/1, \$56,202/annual, to Column/Step IV/7, \$75,766/annual, effective 08/20/08.

Nijjar, Rani (nmi), Instructor, Psychology (2FSS30), from Column/Step III/1, \$56,202/annual, to Column/Step IV/7, \$75,766/annual, effective 08/20/08.

## D. Stipend

- 1. Novak, Janice V., for training new online course evaluators during Fall 2008 and Spring 2009, at \$250 each semester.
- 2. Mumford, Jay, for the development of a new online course to be offered in Spring 2009, at \$400. (Note: this is in addition to the stipend approved on October 27, 2008)
- 3. Splendore, Carole, for leading the Title III Focused Inquiry Group (FIG) on School of the Arts Student Learning Outcomes (SLOs), during Spring 2009; to be paid a maximum of 3 CAH, \$2,053/CAH. (maximum = \$6,159.00)

## E. Other

Agenda Item: 3.3 January 20, 2009

Page 3

- 1. Pitcher, Wayne H., for serving as curriculum chair for Spring Semester 2009, to be paid at the "F" hour rate, \$46.92/hour, not to exceed 44 hours. (maximum = \$2,064.48)
- 2. For additional work on the Work Experience Education Pathways (WEEP) grant to develop an AA degree in Film and to work on plans for film festival during the 2008-09 academic year and Summer 2009, to be paid at the "F" hour rate, \$46.92/hour, not to exceed the amounts listed below.

Hassan, Dov - \$1,000 Rhodes, Linda - \$3,000

3. For performing the duties of a Title III Focused Inquiry Group (FIG) participant in the FIG on Critical Thinking, to be paid at the "F" hour rate, \$46.92/hour, each not to exceed 9 hours. (maximum = \$422.28)

Chun, Desmond Kelley, Kathy G. Woodhams, Steven V.

4. For performing the duties of a Title III Focused Inquiry Group (FIG) participant in the FIG on School of the Arts Student Learning Outcomes (SLOs), during Spring 2009, to be paid at the "F" hour rate, \$46.92/hour, each not to exceed 15 hours. (maximum = \$703.80)

Chu, Paul
Cook, Leonard R.
Daher, Barbara
Hertz, David
Huang, Wei-Chin
Kensinger, Keary
Millett, James M.
Rhodes, Linda
Tobias, Jerome

5. For performing the duties of a participant in the Title III Focused Inquiry Group (FIG) on Student Learning Outcomes (SLOs), during Spring 2009, each to be

Agenda Item: 3.3 January 20, 2009

Page 4

paid at the "F" hour rate, \$46.92/hour, not to exceed 5 hours. (maximum = \$234.60)

Absher, Michael
Chowenhill, Dennis
Chun, Desmond
Feferman-Perez, Julie
Galliano, Josephine A.
Glen, Chad Mark
Hildreth, Scott
Ianniello, Raphaella A.
Korzun, Svetlana
Nelson, Tracy
Paz, Jeanette
Phillips, Wayne
Pitcher III, Wayne
Sansome, Victoria
Sherry, Michelle

6. Arnold, Carolyn, for leading the Title III Focused Inquiry Group (FIG) on Student Learning Outcomes (SLOs), during Spring 2009; to be paid at the "F" hour rate, \$46.92/hour, not to exceed 12 hours. (maximum = \$563.04)

## II. ASSIGNED TO LAS POSITAS COLLEGE

### A. Employment

## New Temporary Part-Time for 2008-09 Academic Year

(Per contract, faculty are placed on the faculty salary schedule at Step 1, unless noted otherwise.)

Hibbs, Richard S. Viticulture

Linhart, James W. Fire Service Technology

Oberle, Ferdinand J. Geology Rosenkranz, Thomas F. Chemistry

Vani, Engjellushe (nmi) Computer Information Systems

Returning Temporary Part-Time for 2008-09 Academic Year

Agenda Item: 3.3 January 20, 2009

Page 5

Anderson, Sylvia R. Mathematics Constantino, Marc (nmi) Physics

Costello, Anthony J. Physical Education

Denyer, William W.

Fried, Siah S.

Garoupa, Justin C.

Gold, Marc L.

Business
Health
English
Health

Hukari, Tiina M. English as a Second Language

Judd, Jeffrey R. Ecology
Lappa, Robert C. Music
Meagher, Carole K. Marketing
Miner, Scott A. Welding
Moore, Katherine L. Microbiology

Mote-Yaffe, Sally B. Music
Norton, Corey N. Speech
Rasmus, John J. Economics

Reno, Laura (nmi) Early Childhood Development

Rosefield, Cynthia A. Music
Suzara, Aimee B. English
Welsh, Wendy M. Psychology
Willis, James B. English

### B. Stipend

1. For developing materials, assignments, and readers that will meet Student Learning Outcomes of entry level English as a Second Language courses using Early Childhood Development content effective January 2009.

Hukari, Tiina M., not to exceed a maximum of \$100.00 Podevyn, Joyce A., not to exceed a maximum of \$300.00 Virgillo, Jeanne M., not to exceed a maximum of \$200.00

- 2. Schoenecker, Paula (nmi), for developing new instructional materials and techniques for Disabled Student Program Services, to be paid a flat rate of \$3,000.
- 3. For special assignment for Spring 2009, to be served in the Mathematics Integrated Learning Center (ILC), each to be paid at \$49.00/hour, as agreed upon by District and Faculty Association.

Agenda Item: 3.3 January 20, 2009 Page 6

Badal, David P., 54 hours maximum (maximum = \$2,646.00)
Basinger, Richard C., 36 hours maximum (maximum = \$1,764.00)
DeMange, Paul P., 18 hours maximum (maximum = \$882.00)
Hannon, Willard J., 36 hours maximum (maximum = \$1,764.00)
Jamasbi, Nooshin (nmi), 18 hours maximum (maximum = \$882.00)
Maiti, Amitesh (nmi), 54 hours maximum (maximum = \$2,646.00)
Mohebi, Mehrdad (nmi), 54 hours maximum (maximum = \$2,646.00)
David, J. Powers, 18 hours maximum (maximum = \$882.00)

- 3. Donat, Teresa G., for CATEMA System Work Plan Activities in support of Tri-Valley Educational Collaborative Career Technical Education, to be paid a flat rate of \$2,000 for Fall 2008.
- 4. Lauffer, Mary M., for creating a student based business center around the new Las Positas College Entrepreneurial Resource Center, to be paid a flat rate of \$3,000 for Spring 2009.
- 5. Lauffer, Mary M., for creating a comprehensive and upgradeable website for the Work Based Learning Program compatible with the Las Positas College style and format, to be paid a flat rate of \$3,000 for Spring 2009.
- 6. Hart, LaVaughn M., for chairing the Las Positas College Curriculum Committee during Spring 2009, to be paid a maximum of 3 CAH, \$2,053/CAH. (maximum = \$6,159)
- 7. Hart, LaVaughn M., for sharing the responsibilities of the Computing Studies Coordinator during Spring 2009, to be paid a maximum of 2 CAH, \$2,053/CAH. (maximum = \$4,106)
- 8. Hart, LaVaughn M., for serving as Las Positas College Grievance Officer of the Faculty Association during Spring 2009, to be paid a maximum of 3 CAH, \$2,053/CAH. (maximum = \$6,159)

## C. Other

1. For their work in review of the Las Positas College Accreditation Self-Study, each to be paid at the "F" hour rate, \$46.92/hour.

Agenda Item: 3.3 January 20, 2009 Page 7

> Cassidy, Fredda K., not to exceed 4 hours (maximum = \$187.68) Cole, Elena C., not to exceed 4 hours (maximum = \$187.68) Heisler, Timothy D., not to exceed 8 hours (maximum = \$375.36) Korber, Melissa A., not to exceed 5 hours (maximum = \$234.60) Orf, Thomas M., not to exceed 5 hours (maximum = \$234.60)

Submitted: Mary Anne Gularte/Da	Approve	d: Joel L. Kinnamon/Date	
APPROVED	DISAPPROVED	TABLED	